HIGERS

& AK

M AF

& BK

M BF

M EF

& FK

B FF

B wBK




HIGERS

AK
Support Unit AK

(fixed-side rectangular type)

AK10~AK15
(L2) L3,
2-OXIREFOYIRIEZ
2-X orill @Y counter bore depth Z
1 7
\ ﬁ *Qfoption)
| ~ : t
| ] /— [
S % .
= P A
T N 15 @)/
Lo 69
sl ERE 0
= |
AK10~AK25 ATl
/Park No. /Part rame /Qty ) Ls
1 /Housing 1 G @ % ;@
Sz /e 1/ e
— I
3 /Holding lid 1 [ AT
B e
5 /Seal 2 7 = [
6 L
‘L1 |5
7 Hexagon socket-head 1
Sotscrew
/Unit:mm

b h

saft, L L1 L2 L3 B H BIHIP XY Z M T C1C2C3 G Q weight

diamete
Model No. dareter +0.02 +0.02 (Kgs)

AK1I0 10 24 6 295 6 70 43 35 25 363552 9 14 11 M316 - - - 20 M6 05

AK15 15 25 6 36 5 80 49 40 30 41 40 60 11 17 15 M4 22 - - - 21 M6 0.65

AK25 25 48 12 59 14 10568 525 35 66 258 11 - - M5 3530 9 24 58 - 1.92

| c-01

]

=




67

HIGERS

AF
Support Unit AF

(Supported-side rectangular type)

(AF10~20)
2-OXHFOYIRZ
2X drill @Y counter bore depth Z B1
|
L . B
!j‘,,l,,TJ l Lj‘,,}:
I T o Lo
B I N
! [ b {
| P |
B
/Park No. /Part rame /Qty

1 /Housing 1

3 C /Snapring 1

/Unit:mm

b h C
shaft :
Model No. d'agf"” L B H +0.02 +0.02 BLHL P X Y Z Bearing Shap ring V\zﬁlggt

AF10 8 20 70 43 35 25 36 35 52 9 14 11 60872z S08 0.37
AF15 15 20 80 49 40 30 41 40 60 9 14 11 6002ZZ S15 0.45
AF25 25 30 105 68 525 35 66 25 8 11 - - 620527 S25 0.95



HIGERS -

BK
Support Unit BK

(fixed-side rectangular type)

/Park No. /Part rame /Qty
1 /Housing 1

3 /Holding lid 1

5 /Seal 2

7 Hexagon socket-head 1
Sotscrew

2-M
4-DXIRBEOYIRZ \ B1 O)

4-X drill @Y counter bore depth Z \ /

\ 4%2 ..........................................
I
ac i |
I |w
< N L Y —S== (e I W JU A INSNIL | Sl e
|
1
5 el &2
L meatiiiilillt |

/Unit:mm

shaft L Ll L2 L3 B H b h Bl Hl E P C1C2d2 X Y Z M TWeight ..........................................

(Kgs)
BK10 10 25 5 295 5 60 39 30 22 34 32515 46 13 6 556.6108 5 M3 16 04

Model No, diameter +0.02 £0.02

BK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 556.6 11 6.5 M4 22 0.6

BK20 20 35 8 43 8 88 60 44 34 52 50 22 70 19 8 66 9 14 85 M4 30 13

BK30 30 4514 61 9 128 89 64 51 76 78 33 102 23 11 11 14 20 13 M6 40 3.4

BK40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 175 M8 50 6.8




HIGERS

BF
Support Unit BF

(Supported-side rectangular type)

/Park No. /Part rame /Qty
1 /Housing 1
3 C /Snapring
2-PXREOYIEZ
2-X orill @Y counter bore depth Z
B1
|

I
-
I

I
1

%
afst

/A 3 -
x = j
= Lol
Tlcw }}i mr\j
Y L
J‘I /]
! f'—_‘lll

/Unit:mm

b M g i E PdX v Z . S oo
+0.02 +0.02 Bearing Snapring " (kgs)

20 60 39 30 22 34 325 15 46 55 6.6 108 5 608Z2Z S08 0.3

shaft L B H

Model No. ~ diameter

BF10 8

BF15 15 20 70 48 35 28 40 38 18 54 55 6.6 11 6.5 600277 S15 0.4

26 88 60 44 34 52 50 22 70 66 9

BF20 20

14 85 60042z S20 0.77

BF25 25 30 106 80 53 48 64 70 33 8 9 11 17 11 6205ZZ 525 1.45

BF35 35 32140 96 70 52 88 79 35114 11 14 20 13 62072z S35 2.25



HIGERS

Support Unit EK /Park No. /Part rame /Qty
(fixed-side rectangular type) 1 /Housing 1
3 /Holding lid 1
5 /Seal 1(2)
7 Hexagon socket-head 1
Sotscrew
2-pxIRE L2) L3

A

NN /®
oAl Ea NS, I
s Sk
L] SRR OE
s (EK05~08)
(L2) L3,
2-PXHE 3 ?
Z-EX&ﬂH 4
\ L i
& w"i xii
i br i i i
: ' (EK10~20)

/Unit:mm

shaft b h i
Model No. dia211eter L Ll L2 L3 B H +0.02 +0.02 Bl Hl P X Y Z M T M{ﬁ'ggt

EK05 5 16555 185 35 36 21 18 11 20 8 28 45 - - M3 11 0.12

EKO08 8 23 7 26 4 52 32 26 17 25 26 38 66 11 12 M3 14 0.27

EK10 10

24 6 295 6 70 43 35 25 36 24 52 9 - - M3 16 047

EK15 15 25 6 36 5 80 49 40 30 41 25 60 11 - - M4 22 06

70



71

HIGERS

EF
Support Unit EF

(Supported-side rectangular type)

/Park No. /Part rame /Qty
1 /Housing 1

3 C /Snapring

-—lm
=

10X
DALY Z

g
w

o
=

W (T

/Unit:mm

b h C
shaft i
e ke LB OH e BLHL P XY 2 i snapring "

EF06 6 12 42 25 21 13 18 20 30 55 95 11 60622 S06 0.1

EF10 8 20 70 43 35 25 36 24 52 9 - - 60827 S08 0.35

EF15 15 20 80 49 40 30 41 25 60 9 - - 600222 S15 0.4



HIGERS

FK

Support Unit FK
(fixed-side round type)

/Park No. /Part rame /Qty
1 /Housing 1

3 /Holding lid 1

5 /Seal 2

7 Hexagon socket-head 1
Sotscrew

A4-pXIETFOYIHRZ
4-X drill @Y counter bore depth Z

(L2)
@ O
[ ]

1

= |-

8)

RETTIEA RETFEB
Mounting method A Mounting method B
/Unit:mm

A A

T dﬁa\rr]r?eftter L H F E Dg6 A PCD B MountingmethodA Mountingmethod8 % Y 7 M T Weight
- 1 T L2 T2 (Kgs)

FKO5 5 165 6 105185 2005 34 26 26 55 35 5 3 34654 M3 11 01

FKO8 8 23 9 14 26 283057 43 35 35 7 4 8 5 34654 M3 14 0.16

| c-07

]

=

72




|

73

HIGERS

FK

Support Unit FK
(fixed-side round type)

/Park No. /Part rame /Qty
1 /Housing 1

3 /Holding lid 1

5 /Seal 2

7 Hexagon socket-head 1
Sotscrew

1-OXEBROYEIRZ
4-X drill @Y counter bore depth Z

L (L)
£ H A *(Q option) L (L2)
@i@i @{ /6> H,_F
T ” / T
% g /u-\/-\/—v—\/ =
8 f § | [ 18s IS ~8
DI~ ) " %
1)1 e ; ! T2 = E
\
RETTEA ‘ RELT5EB
Mounting method A Mounting method B
/Unit:mm

A A
shaft nting method nting method f
Model No. dla(rjrfter LHF E Dg6 A PCD B Mmlj_]t_ g flt_]cj A Mor_é g efr; EX Y ZMT G Q V\(ﬁlggt

FK10 10 27 1017 295345092 52 42 42 75 5 85 6 45 8 4 M316 — M6 0.25

FK15 15 32 1517 36 40532 63 50 52 10 6 12 8 5595 6 M422 26 M6 0.4

FK20 20 52 2230 50 5700 8 70 68 8 10 12 14 6.6 11 10 M430 34 M6 1.2

FK30 30 623032 61 75539117 95 93 11 12 17 18 1117515 M6 40 46.5M6 2.38



HIGERS

FF

Support Unit FF
Supported-side round type)

/Park No. /Part rame /Qty
1 /Housing 1
3 C /Snapring 1
BB SOV T
: 4-% crill @Y couter bore depth 2
P F_H 2\' 3
2 A
., o Y /!
L/ ;.4
¥ _).f'
I odtl| | . <«
a T e U SO e |Oﬂ
=l 1
[2 1

/Unit:mm

C .
Bearing Snap ring V\@Iggt

FFO6 6 10 6 4 22037 36 28 28 34 65 4 60622 S06 0.08

D L H F  Dgé

diameter
Model No. dl

A PCD B X Y Z

FF12 10 15 7 8 3405% 52 42 42 45 8 4  6000ZZ S10 0.15

FF17 17 20 11 9 50958 77 62 61 66 11 65 6203ZZ S17 0.35

FF25 25 24 14 10 63539 98 80 79 9 14 85  62052Z S25 0.66

74




75

HIGERS

FKA

Support Unit FKA
(fixed-side round type)

/Park No. /Part rame /Qty

1 /Housing 1

3 /Holding lid

5 /Seal

7 ge?agon socket-head 1

omsere (FKA06~08) (FKA10~20)
L (L2)
(5 H__F

i

: SR ]
=
[]
x T2 E
T E 2-M
4-OXIBFOYIRIRZ

4-X drill @Y counter bore depth Z

/Unit:mm

A A

shaft L H F E D 6 A B J K V Mounting method A Mounting method B X Y Z M T Weight
Model No. diarmeter g I O O (KgS)

FKAOG 6 20 7 13 22 28300, 44 36 3026.7920.93 55 35 65 45 3465 4 M3 12 0.14

FKA10 10 27 10 17 29536300256 48 39 35.7 27.39 75 5 85 6 458 4 M3 16 0.26

FKA15 15 32 15 17 36 4030026556 43 39.4 30.78 10 6 12 8 5595 6 M4 22 0.37



HIGERS

LK

Low profile Support Unit LK
(fixed-side rectangular type)

/Park No /Part rame /Qty

1 /Housing 1

3 /Holding lid 1

5 /Seal 2

7 Hexagon socket-head 1
Sotscrew

2-OX ROV IRiRZ
2-X drill @Y counter bore depth Z

H1

o MRERIRIRIRIARRERS|

/Unit:mm

sha b h i
SeseiD dia%lef%er L L1213 B H ,jp0i00pBIHLP XY Z M T g

LKO8 8§ 225 - 26 35 62 31 31 155 30 255 46 9 14 125 M3 14 0.28

K12 12 24 6 295 6 70 38 35 20 36 30 52 9 14 10 M4 19 042 | e

76




HIGERS

LF

Low profile Support Unit LF
(Supported-side rectangular type)

/Park No. /Part rame /Qty
1 /Housing 1
3 C /Snapring 1
2-PXIEZF QYR B1

2-(X drill @Y counter bore depth Z

| ! —

- ] N
SRSZA =
il naE /:f L |

: 0

/Unit:mm

Model No d;sarr%aeftter L B H b h Bl Hl P X Y Z q © . Weight
Cd1 +0.02 *0.02 Bearing Snap ring (Kgs)

LF08 6 16 62 31 31 155 30 25546 9 14 125 606ZZ S06 0.19

LF15 15 20 80 41 40 22 41 32 60 9 14 11 60022z S15 0.35



www.shdaoquan.com HIGERS ®-

LFA

Low profile Support Unit LFA oo o
(fixed-side rectangular type) -

/Park No. /Part rame /Qty
1 /Housing 1
3 c /Snapring 1
2 OXREOVIREZ BT ® @

2-@X drill @Y counter bore depth Z
|

dl

— /L\/ (] z

H1

e
P
AR
D)

—~—

e

/Unitmm
b h C
shaft .
Model No. d|a311eter L B H +0.02 +0.02 BLHL P X Y Z Bearing Snap ring \Azﬁlgsr;t
LFA12 12 18 62 31 31 155 30 25546 9 14 125 6801ZZ R21 0.2
LFA20 20 22 80 41 40 22 41 32 60 11 17 13 680427 R32 0.35

78



79

HIGERS

Nut Bracket

MC

== w =
B B1
Wi +0.1 _ L -_—
-0 4-sx|
4- — 3 - >
Hx | .
e oss
Eof =1
!‘r;ll. { il
] = 1| R |
b
s e T
W - .

/Unit:mm

FA
W\i;th W1 B Blemnm CCL F K D PCD Sx HxI Weight

L (Kgs)
32 16 10 20 32.526.4 36 M5x0.7x7 M4x0.7x7 SNK1004 ENK1005 0.24

Model No.

MC1004 48 24 40 4

M6x12 M5x0.8x7 BNK1408 BNK1510 34

MC1408 60 30 50 5 BNK1408 BNK1610

36 20 10 21.5 37 344 45

MC2020 86 43 70 8 40 24 8 28 51 394 59 M10x20 M6x10 BNK2020 0.83

MGD
sz % ) T
1 o BB2
' / S
L7 1 s
2 ﬁ+ﬁ
LR | - _.--7.
\ /\';\\; ”{5
\‘ e
g BB1
/Unit:mm

Model No. Size dOXp Partnumter D+0.1 DG A B+0.1Bx0.1H1 E1

E2 N S S1T1S2T2  1so4m62 | Weight

(Kgs)
24 48 50+0.1 20+0.1 20 8.4 M10 15 M5 10 BB2 M8 37 0.91

16x5 16x10

1506-0-0050
MGD16 16x16 28.4 38 50 35

25x5 25x10

MGD25 25505

1506-2-0050 40.4 51 55 40

30 60 60£0.1 23+0.1 22 8.4 M10 15 M6 11 BB2 M8 49 1.33

M12 52 2.77

MGD32 32x2032x32° 50 75+0.1 3020.1 27 M16




www.shdaoquan.com HIGERS ®-

...BK

Recommended shaft end shape(Fixed-side)
for Support Units types

c G e e | —

’—j ol
(I a2 L il S
T Ei ..........................................
i B ] i < el R e [ B

L%mmﬁ*f 5 T

r—|—|——v—I—\

i Rl TR

g b

BKHY

/Unit:mm

Support unit modle No. ~ Ballscrew shaft 0D shftsuppart porton O Metrc scew thread  Length of sleeve
BK Type BK d D B E F M S C

-0.008
12 -0.015

BK12 14/15/16 10 36 15 M1l 12 55

-0.008
BK17 20/25 17 9017 15 53 23 Mi7xl 17 7

-0.010
BK25 32/36 25 0o 20 66 30 M25x15 20 9

BK35 45 35 0002 30 82 45 M35xL5 26 12




81

HIGERS

www.shdaoquan.com

.FKFKAEKAK LK

Recommended shaft end shape(Fixed-side)
for Support Units types FK,FKA,EK,AK,LK

. 8
R _:E[
Jg -HE i
= , A (i AT

FRFKAZY
Type FIKFKKA

FRFRKAZY
Type FIGFKA

ER AR, LK IS
Type EFGAK LK

/Unit:mm

Support unit madle No. Ballscrew shaft OD St support portion 0D

Metrc scew thread ~ Length of sleeve

K EK  AK EK d D B E F M S C

Type FK/FKA  Type EK  Type EK  Type EK

FK06 :0.008
FKAOs EK06 - 8 6 o015

0.00

M5x0.75 8 5

FK10
FKA10

8

EK10 AK10 LK10 10 0015 8 36 15

12/14/15 M10x1 12 55

FK15 -0.008

Fkals, EK1S AK15 LK1 — 18/20 15 o7, 12 48 20 MI5x1 13 10

FK20 -0.010
FKA20 EK20 AK20 - 25/28/30 17 64 25

20 0020 M2ox1 16 11

30 -0.010 25 73

FK30 - - - 36/40 0,020

38 M30x1.5 25 9



www.shdaoquan.com HIGERS ®-

..FF,BF,EF AFLF

Recommended shaft end shape(Supported-side)
for Support Units types FF,FF,EF,AF,LF

FFEY FFRY EF BF AF LFEY
Type FF Type FF Type EF BF,AF,LF

/Unit:mm

Support unit modle No. Ballscrew shaft OD st suppart portion OD Snap-ringGroove

FF EF BF AF LF d D E B F G
Type FF  Type EF Type BF  Type AF  Type LF

_ ~ _ -0.008
EF08 LF08 10 6 oL 9 5.7 6.8 0.8

FF12 EF12 BF12 AF12 LF12  14/15/16 10 88‘1’2 11 96 915 115

-0.008

FF17 - BF17 - - 20/25 17 oo17

16 16.2 13.15 1.15

FF25 - BF25 AR5 - 30/32/36 25 000 0 239 1635 1.3

- - -0.012
- - BF35 40/45 35 gon 22 33 1875 175






